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AT |ZRIAITIHBA| KARA| EEA | LyFA | ARA | B | FXR | #8FR | B
RitA1 1A1 1400 1A1 |1 0x4|302]|0A0 9 1 9 3
ZRAA] 1A 200|100 1x5(402(100] 13 2 10 2
IHBEAOX4 | 0X%x2 301 |0x2 Ox1 3 -7 3 4
KARA 1A1 | OXx1]1%x3 1x8|302|0A0 5 -9 6 3
ftEA | 400|501 | 200|801 701 (200 18 25 28 1
LyFA [ 2x3 | 2x4 2x3|1x7 0AO 1 -10 7 5
BEA|O0AO0[O0%X1]|100[0A0|0Xx2|0A0 6 -2 1 2
ZRitA2 BRIIA |ZREA| fRHA | BEA | RIBA | BR | GXA | BER | IEX
—RitA2) 201 300|0A0(|700]| 300} 13 14 15 1
BIA | 1Xx2 602 (100|302 |300]| 12 8 14 2
ZRBEA[0X3|2x%x5 1x5(600| 100 6 -3 10 4
%A | 0OAO0 [ O0Xx 1| 501 100|200 10 6 8 3
SEA|O0X7[2%Xx3[0x6|0x%x1 100 3 -14 3 5
FIEA [OX3[0X3|[0x1|0x2|0x1 0 -10 0 6
RIAAA2[|DFETA| BAEA | #MA | BKA | PEA| BR | 8RR | 85| B
RIkA2 Ox8|0x8|1A1[2%x3|1x2 1 -18 4 6
»vETA| 800 200201401 |0x1 12 13 16 1
BHEA | 800 | 0x%x2 100|401 | 300 12 13 16 2
HA | 1AT [ 1Xx2[0X%1 2A2 | 0x2 2 -4 4 5
EKA 1302 1x4|1x4|2A2 302 7 -4 10 4
LEA |1 201 [(100|0x3[200|2x%x3 9 0 7 3
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BIARA| TFA | ARA | BBA | TIRA | BREB | MR | BXR | B8R | B
BINKA 1X2[0x13]0x2|0x3|0x5 0 -24 1 6
IFA [ 201 0x8|2A2|0x1[0x2 4 -10 4 4
ARA |1300| 800 600|500 ]| 200] 15 34 34 1
EPA [ 200|2A2|0X%6 0x4]|10x2 4 -10 4 4
fiiRA | 300 | 100 | 0x5 | 400 ox4] 9 -1 8 3
BHAEB | 500 200|0x2| 200|400 12 11 13 2
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LEB | fRHB |[ZRIAB|®ETCB|IZRAEB| MR | FEXR | BER | B
LEB 601 [(0x3|0x2|2A2 4 0 8 4
fRHEB | 1X6 OxX10[1x6|0x%x5 0 -25 27 5
—RitB| 300 |1000 201 | 2A2 10 14 17 1
vFETB[ 200|601 | 1x2 0x1 6 5 9 3
—REB[ 2A2 (500 242|100 8 6 10 2
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LykB | ARB [(IHEB| HEIFA [fRNEA] MR | FE& | 858 | B
LykB ox1 301 | 1A1 4 1 4 3
A#B | 100 201 |100|200] 12 5 6 1
IH#HEB 1x2 601|200 6 6 9 2
HBA | 1X3|0Xx1]1X6 1%x2 0 -9 3 5
wmhAEAl1A1T[O0Ox2|0x2]| 201 4 -3 3 4
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BHEC | BKkB | fEEB | EEB | BiIB| MR | &%= | #8688 | B
BAC 1x3|0x3|1x3([200 3 -5 4 4
#ExkB | 301 0x2|201 ]| 1A1 7 1 6 2
fe@B [ 300 | 200 400 | 201 12 10 11 1
=EB|[301|1x2|0x4 0x3 3 —6 4 5
BmIB|Ox2[1A1]|1x2]|300 4 0 5 3
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RitB | ARC [A/\KB| #%/IC | BHAD | f13kB | AFB | BR | F&kA | BE= | B
RitB 100|100|600(0x1|500|0x7]| 12 5 13 2
A#RC | OX1 1x2|500|0x1|1300[0x13] 6 2 19 5
BNAARB[Ox1 | 201 600 | 200|600 (1x14] 12 1 17 4
BIC|0x6|0x5|0x6 0x4|1400|0x10] 3 =27 4 6
BED | 100 100|0x2| 400 700|0x9 12 2 13 3
B [ OX5|0X13/0xX6 | 0X%X4[0x7 o0x21] O -56 0 7
#xB | 700 (1300(1401|1000| 900 (2100 18 73 74 1
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IHEBEC| B | #C | TFB | BB [#i0'EB| VEC | BR | BhkR | KBS | 1B
IHEBC 500 (1900|601 |0x2|900 (1200 15 48 51 2
FIEB | OX5 800 500|(0x4|[0x1|600 9 9 19 3

#C |0x19| 0x8 Ox7]0x11(0X3|1x3 0 -50 1 7

EFFB|1x6|0x5| 700 0x6|501|600 9 1 19 4
&PB [ 200 | 400 |1100[ 600 1100[(1100] 18 45 45 1
#AEB 0X9 | 100|300 (1x5|0x11 1x4]| 6 -23 6 5
LEC|0X12[0%x6|301[0x6|0x11[ 401 6 -30 7 6




I3#EBD| HIEC | ARD [PETC| LykC| #B |KARB| Mm | LR | 8B5S | IRG
IFHED 2x3[100|0%x16 0x4|201 6 -19 5 6
fisc | 302 401 0x6|0x2|0%x1|0x%x6 6 -1 7 5
A#D[OX1|1%x4 Ox12[2x6[1xXx10/0x10] O -39 4 7
wETC(1600| 600 (1200 200|200 | 1A1 16 38 39 1
LwykC 200|602 |0x2 400|301 12 10 15 2

#B [400| 1001|1001/ 0%x2|(0x%x4 1X3 9 6 16 4
RKARB| 1x2| 600 [1000] 1A1 | 1x3| 301 10 15 22 3

R#C [°FTD| LykD |ZRJC| ®EC | AKC | FEEC | Bm | /&R | 855 | B
Ritic 0x15/0x12|0x17{ 0x9|0Xx15]/ 0x8 0 -76 0 7
»#ETD|1500 702|501 (900| 200|500 18 40 43 1
LwykD [1200| 2x 7 1x3|[2x4|2x4|6A6]| 4 1 25 6
—Ric[1700[ 1 x5 | 301 400 (| 1x7| 201 12 14 28 3
mEC | 900(0x9(402|0x4 2x6|3x4]| 6 -7 18 5
#Akc 11500 0x2|402| 701|602 902 15 32 41 2
ftEc [ 800 | 0x5|6A6|1x2[403|2x9 7 -4 21 4




